Addition — Ovning 6

Hitta talet som saknas i en addition ddr summan maximalt ar 20

6+ =11 __+6=14 6+_ =16 _ +3=12
9+ _ =16 _ +1=11 o4+ __ =9 _ +8=14
8+ _ =17 __ +9=13 24 _ =11 __+6=13
3+ =11 _ +5=28 T+ =14 ___+4=10
8+ _ =15 __+5=15 74+ __ =10 _ +10=19
T+ __ =11 __+9=16 94+ _ =18 __ +8=16
5+ =11 __ +4=12 8+ =10 __ +4=13
9+ =14 _+7=11 T4+ _ =15 _ +5=12
5+ _ =13 __ +9=12 8+ _ =13 _ +7=13
9+ _ =17 4+ 6=15 4+ =14 __+9=15
_ +6=12 __+4=13 9+ _ =15 5+ =10
__+6=10 _ +8=14 8+ _ =16 94+ _ =17
_ +7=14 _ +5=12 3+ _ =12 44+ _ =12
__+3=11 __ +7=15 94+ _ =11 8+ _ =18
.+ T7=12 _ +9=14 7T+ _ =15 T+__ =16
__ +5=13 o+ _ =11 __ +9=18 6+_ =11
_ +9=15 6+ =10 _ +7=13 8+ =17
4+ T7=11 54+ _ =15 ___+5=14 94 _ =12
4+ 4=12 T4+ __ =13 . +4=11 44+ _ =13
_ +T7=16 54+ _ =13 A+ T7=17 3+__ =11
Datum: /20 KONIG.SE Resultat: ~ av 80



